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CH2 = CH2.  
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                                         CaC2 + 2H2O  ����  (A) + Ca(OH)2 
                                        (A)  +   Cl2  ����  (B)                   
                                        (B)  +   Cl2   ����  CCl2 = CCl2 
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	�	C2H4 (g)	�
� < :?�5�
 
� C2H6 (g)��-�+ ��*  =�� ��      
��
���
: (-1218,36 kJ.mol-1)�  (-1408,68 kJ.mol-1)   

    +�� 
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#J>3�A� ���� CO2  �H2O�� :  
∆Η°∆Η°∆Η°∆Η°f (CO2)(g) = -393,51 kJ.mol-1 � ∆Η°∆Η°∆Η°∆Η°f (H2O)(g) = -241,82 kJ.mol-1 
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C2H4 (g)  +  H2 (g) ����  C2H6 (g)     ∆Η°   ∆Η°   ∆Η°   ∆Η°298K 
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16 12 8 4 0 t (min) 
3,51 . 10-3 4,18 . 10-3 5,19 . 10-3 6,83 . 10-3 10-2 [HCOOC2H5] (mol/l) 
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 ���� :1/ [HCOOC2H5] = f(t)   
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 ���� F����
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0�      - 3��/��
 ���� .��< "�*� K1.  
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�? "�*� t½ .  
  3 – ��� 3��/��
 ���� .��< 
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 77° C �� K2 = 1,33 . 103 L . mol-1. min-1  

                +	A���
 �-�+ "�*� Ea.  
       =+�	:   R = 2 cal . mol-1. K-1    

 


